Chesterfield Township School HEALTH OFFICE REPORT – June 2019

Date: July 1, 2019

Student Visits:	Category	Number
Student Visits:	First Aid	174
	First Aid Medications Medical Other Counseling Health Screenings Health screenings for I&RS or CST Head lice checks DYFS Staff Visits	262
	Medical	275
	Other	41
	Counseling	0
	Health Screenings	0
	Health screenings for I&RS or CST	0
	Head lice checks	125
	DYFS	2
	Staff Visits	8
	Parent Communication	108
	Documentation of records	45

Health Office Visits:	Total: 1040	Per Day: 69
Tremitin Strice (issue)	10141111010	1

Communicable Diseases:	Disease	Number of cases		
	Strep Throat	4		
	Conjunctivitis	0		
	Lice	6		
	Flu	0		
	Impetigo	0		
	Ringworm	0		
	Chicken Pox	0		

Accident Reports	1
Students on daily medication / treatment	20
Telephone Calls to parents for illness or injury at school	108
Attendance Meeting as Attendance Officer	0
Special Services – I&RS, IEP, 504 meetings attended by nurse	0
Telephone calls to Poison Control	0
Students Out of District	2
DYFS	2
Home Visits	0
Students on Homebound Instruction	0

Comments:

- Head lice checks 3 classes and repeat checks as necessary
- Data entry of immunization and health records for incoming kindergarten students
- Several trips this month
- Letters to parents sent & emailed reminders to parents of incoming K and 6th graders for required immunizations prior to start of school year
- Letters to parents of children with PRN meds to be picked up at end of ESY

School Nurse: Marylyn Campanella, BSN,RN,CSN	Marylyn Campanella
Charmaine Ramos, MSEd, BSN, RN	Tharmaine Rames

Emergency Drill Log for 2018-2019 School Year

Month	Date	Type of Drill
7	July 12, 2018	Fire Drill
July	July 12, 2018 July 18, 2018	Fire Drill
		Bus Evacuation Drill
September	September 19, 2018	
	September 21, 2018	Fire Drill
	September 27, 2018	Lock Down Drill Code In
October	October 2, 2018	Fire Drill
	October 30, 2018	Bomb Threat Drill
November	November 2, 2018	Evacuation Drill
	November 19, 2018	Fire Drill
July September October November December January February March April	December 6, 2018	Fire Drill
	December 13, 2018	Bomb Threat Drill
January	January 4, 2019	Fire Drill
	January 9, 2019	Bomb Threat Drill
February	February 27, 2019	Fire Drill
	February 28, 2019	Lock Down Drill
March	March 14, 2019	Fire Drill
	March 29, 2019	Lock Down Drill
April	April 16, 2019	Fire Drill
	April 29, 2019	Lock Down Drill
May	May 21, 2019	Fire Drill
•	May 31, 2019	Evacuation Drill
June	June 3, 2019	Fire Drill
	June 11, 2019	Bus Evacuation Drill
	June 24, 2019	Fire Drill
		The second secon

2018/2019: School Disciplinary Incidents

	SEPT	ОСТ	NOV	DEC	JAN	FEB	MAR	APR	MAY	JUNE
Incidents	6	9	8	16	11	23	9	20	16	12
Bus Incidents	0	0	2	0	0	0	1	1	0	0
Detentions	2	6	4	4	0	8	0	6	6	4
5/6 Disciplinary Points	0	0	0	0	4	0	0	0	0	0
OSS/ISS: School Suspensions	0	0	0	2	1	0	2	4	0	2

FACILITY REPORT

July 11, 2019

- LED LIGHTING PROJECT STILL GOING WELL.
- SUMMER CLEANING AND ANNUAL INSPECTIONS ARE IN PROGRESS
- WAITING FOR DIAMOND CONSTRUCTION TO GET THE COLOR RIGHT FOR THE CONCRETE PROJECT.
- I WOULD LIKE TO THANK ALL OF THE CUSTODIANS FOR THEIR HARD WORK FOR THE GRADUATION.

Robert Carter Building and Grounds Supervisor

Work Order Summary List

Sharon angelucci

WOID Priority Craft	Location Assigned To	Building Area Description Area Number	Reason Days Aged	Target Completion Date Actual Completion Date Last Status Change Date	Hours	Tota Costs
Descriptio	on		Action Taken			
Requeste						
Status:	Closed Work	Orders				
13025	30 saddleway		6/18/2019		0.5	\$15.57
Medium	Pingitor, Larry	Classroom	2	6/20/2019		
Custodial		B109	6/18/2019 2:52:58 PM	7/11/2019		
	ck up the 20 folding o today, thank you!	chairs that were	Chairs picked up			
Vicki (kim)) Weisgarber(Kampe	e)				
13014	30 saddleway		6/14/2019		1	\$31.13
Medium	Pingitor, Larry	Cafeteria	6	6/20/2019		
Moving		329	6/14/2019 8:25:54 AM	7/11/2019		
3, needs 1 21, row 7- will rehea	Row 1 needs 12 cha 16 chairs, row 4 - 18, 22. Thank you P.S. i rse outside and will s well as the speake	, row 5 - 20, row 6- f it doesn't rain we need all the chairs				
Sharon ar	ngelucci					
12977	30 saddleway		6/3/2019		1	\$31.13
Medium	Pingitor, Larry	Cafeteria	7	6/10/2019		
Moving		329	6/3/2019 8:23:49 AM	6/11/2019		
Grade Gra	ave 124 chairs out in aduation rehearsal to Time Available: 9:30		set up complete			
Sharon ar	ngelucci					
13000	30 saddleway		6/11/2019		1	\$31.1
Medium	Pingitor, Larry	Cafeteria	9	6/20/2019		
Moving		329	6/11/2019 2:02:59 PM	7/11/2019		
and podiu	et up the chairs, spea im outside on the sta . 6/12- 6/17 if it is not	age for graduation	Set up complete			

7/11/2019 8:45:38 AM Page 1 of 2

Work Order Summary List

Selected Date Range for Request Dates:6/1/2019 - 6/30/2019 Order By Status, Location Total Request Date Target Completion Date Labor Deferred By Building WOID Location Costs Days Aged Actual Completion Date Area Description Reason **Priority** Assigned To Created Date/Time Last Status Change Date Area Number **Deferred Until** Craft **Action Taken** Description Requester Name 0.5 \$15.57 6/13/2019 13013 30 saddleway 6/18/2019 5 Medium Pingitor, Larry Classroom 7/11/2019 B109 6/13/2019 2:12:25 PM General Maintenance chairs delivered Please deliver 20 folding chairs to my classroom on Monday, June 17. It is in preparation for the Special Tea on Tuesday. Thank you!

Vicki (kim) Weisgarber(Kampe)

Count: 5 Work Orders Avg. Age of WO's 6 Total for Closed Work Orders 4 \$124.52

Count: 5 Work Orders Avg. Age of WO's 6 Grand Total 4 \$124.52

E+mon D-mon Meter Readings

Month	Total Generation (kWh) month end	Monthly Generation (kWh)	Cumulative from March 2011	SREC's per month	SREC's Cumulative from March 2011	SREC's sold	Rate per SREC	Total Sale Amount	Date of Sale	Remaining SREC's to sell
February, 2011	2770	2770			MARK PROPERTY.			223 (NEC) #3(15)		
March, 2011	8330	5560		5	1	5	\$620	\$3,100.00	9/8/11	
April, 2011	12790	4460		6		6	\$620	\$3,720.00	9/8/11	
May, 2011	18580	5790		7		7	\$620	\$4,340.00	9/8/11	
June, 2011	27880	9300	25110	7	25	7	\$100	\$700.00	6/1/12	
July, 2011	36008	8128	33238	8	33	8	\$100	\$800.00	6/1/12	
August, 2011	42832	6824	40062	6	39	6	\$100	\$600.00	6/1/12	
September, 2011	44594	1762	41824	1	40	1	\$100	\$100.00	6/1/12	
October, 2011	49840	5246	47070	5	45	5	\$100	\$500.00	6/1/12	
November, 2011	52780	2940	50010	3	48	3	\$100	\$300.00	6/1/12	
December, 2011	55662	2882	52892	3	51	3	\$100	\$300.00	6/1/12	
January, 2012	58390	2728	55620	3	54	3	\$100	\$300.00	6/1/12	
February, 2012	62012	3622	59242	3	57	3	\$100	\$300.00	6/1/12	
March, 2012	67228	5216	64458	5	62	5	\$100	\$500.00	6/1/12	
March, 2012				2	64	2	\$122.50	\$245.00	5/28/13	
April, 2012	73557	6329	70787	6	70	6	\$122.50	\$735.00	5/28/13	
May, 2012	80249	6692	77479	7	77	7	\$122.50	\$857.50	5/28/13	
June, 2012	86301	6052	83531	6	83	6	\$135.50	\$813.00	5/28/13	
July, 2012	92564	6263	89794	6	89	6	\$135.50	\$813.00	5/28/13	
August, 2012	98918	6354	96148	7	96	7	\$135.50	\$948.50	5/28/13	
September, 2012	103665	4747	100895	4	100	4	\$135.50	\$542.00	5/28/13	
October, 2012	106951	3286	104181	4	104	4	\$135.50	\$542.00	5/28/13	
November, 2012	109775	2824	107005	3	104	3		\$406.50	5/28/13	
							\$135.50			
December, 2012	111679	1904	108909	1	108	1	\$135.50	\$135.50	5/28/13	
January, 2013	114506	2827	111736	3	111	3	\$135.50	\$406.50	5/28/13	
February, 2013	117268	2762	114498	3	114	3	\$135.50	\$406.50	12/4/13	
March, 2013	120850	3582	118080	4	118	4	\$135.50	\$542.00	12/4/13	
April, 2013	127875	7025	125105	7	125	7	\$135.50	\$948.50	12/4/13	
May, 2013	134826	6951	132056	7	132	7	\$135.50	\$948.50	12/4/13	
June, 2013	141813	6987	139043	7	139	7	\$140.00	\$980.00	12/4/13	
July, 2013	146518	4705	143748	4	143	4	\$140.00	\$560.00	12/4/13	
August, 2013	152478	5960	149708	6	149	6	\$140.00	\$840.00	12/4/13	
September, 2013	158850	6372	156080	7	156	7	\$140.00	\$980.00	12/4/13	
October, 2013	161905	3055	159135	3	159	3	\$140.00	\$420.00	12/4/13	
November, 2013	165060	3155	162290	3	162	3	\$175.00	\$525.00	6/16/14	
December, 2013	166379	1319	163609	1	163	1	\$175.00	\$175.00	6/16/14	
January, 2014	168122	1743	165352	2	165	2	\$175.00	\$350.00	6/16/14	
February, 2014	169528	1406	166758	1	166	1	\$175.00	\$175.00	6/16/14	
March, 2014	173999	4471	171229	5	171	5	\$175.00	\$875.00	6/16/14	
April, 2014	179855	5856	177085	6	177	6	\$175.00	\$1,050.00	6/16/14	
May, 2014	186024	6169	183254	6	183	6	\$196.00	\$1,176.00	12/7/14	
June, 2014	193796	7772	191026	8	191	8	\$197.00	\$1,576.00	12/7/14	
July, 2014	200195	6399	197425	6	197	6	\$197.00	\$1,182.00	12/7/14	
August, 2014	205793	5598	203023	6	203	6	\$197.00	\$1,182.00	12/7/14	
September, 2014	210414	4621	207644	4	207	4	\$197.00	\$788.00	12/7/14	
October, 2014	214312	3898	211542	4	211	4	\$197.00	\$788.00	12/7/14	
November, 2014	216878	2566	214108	3	214	3	\$228.50	\$685.50	6/17/15	
December, 2014	218810	1932	216040	2	216	2	\$228.50	\$457.00	6/17/15	
January, 2015	220903	2093	218133	2	218	2	\$228.50	\$457.00	6/17/15	
February, 2015	223106	2203	220336	2	220	2	\$228.50	\$457.00	6/17/15	
March, 2015	226883	3777	224113	4	224	4	\$228.50	\$914.00	6/17/15	
march, 2013	220003	3177	224113	-	244	-	7220.JU	7314.00	0/11/13	

WOLLACO C										
May, 2015	239646	6792	236876	6	236	6	\$258.00	\$1,548.00	12/1/15	
June, 2015	245524	5878	242754	6	242	6	\$258.00	\$1,548.00	12/1/15	
July, 2015	252536	7012	249766	7	249	7	\$258.00	\$1,806.00	12/1/15	
August, 2015	259153	6617	256383	7	256	7	\$258.00	\$1,806.00	12/1/15	
September, 2015	263908	4755	261138	5	261	5	\$258.00	\$1,290.00	12/1/15	
October, 2015	268273	4365	265503	4	265	4	\$258.00	\$1,032.00	12/1/15	
November, 2015	271026	2753	268256	3	268	3	\$193.00	\$579.00	8/15/17	
December, 2015	273242	2216	270472	2	270	2	\$193.00	\$386.00	8/15/17	
January, 2016	275363	2121	272593	2	272	2	\$193.00	\$386.00	8/15/17	
February, 2016	277983	2620	275213	3	275	3	\$193.00	\$579.00	8/15/17	
March, 2016	283738	5755	280968	5	280	5	\$193.00	\$965.00	8/15/17	
April, 2016	289130	5392	286360	6	286	6	\$193.00	\$1,158.00	8/15/17	
May, 2016	294478	5348	291708	5	291	5	\$193.00	\$965.00	8/15/17	
June, 2016	302274	7796	299504	8	299	8	\$195.00	\$1,560.00	8/15/17	
July, 2016	308004	5730	305234	6	305	6	\$195.00	\$1,170.00	8/15/17	
August, 2016	314445	6441	311675	6	311	6	\$195.00	\$1,170.00	8/15/17	
September, 2016	319354	4909	316584	5	316	5	\$195.00	\$975.00	8/15/17	
October, 2016	323364	4010	320594	4	320	4	\$195.00	\$780.00	8/15/17	
November, 2016	326569	3205	323799	3	323	3	\$195.00	\$585.00	8/15/17	
December, 2016	328851	2282	326081	3	326	3	\$195.00	\$585.00	8/15/17	
January, 2017	330377	1526	327607	1	327	1	\$195.00	\$195.00	8/15/17	
February, 2017	333530	3153	330760	3	330	3	\$195.00	\$585.00	8/15/17	
March, 2017	337510	3980	334740	4	334	4	\$195.00	\$780.00	8/15/17	
April, 2017	342349	4839	339579	5	339	5	\$195.00	\$975.00	8/15/17	
May, 2017	348015	5666	345245	6	345	6	\$195.00	\$1,170.00	8/15/17	
June, 2017	354910	6895	352140	7	352	7	\$225.50	\$1,578.50	6/21/18	
July, 2017	360693	5783	357923	5	357	5	\$225.50	\$1,127.50	6/21/18	
August, 2017	367274	6581	364504	7	364	7	\$225.50	\$1,578.50	6/21/18	
September, 2017	371617	4343	368847	4	368	4	\$225.50	\$902.00	6/21/18	
October, 2017	375258	3641	372488	4	372	4	\$225.50	\$902.00	6/21/18	
November, 2017	378337	3079	375567	3	375	3	\$225.50	\$676.50	6/21/18	
December, 2017	380253	1916	377483	2	377	2	\$225.50	\$451.00	6/21/18	
January, 2018	382604	2351	379834	2	379	2	\$225.50	\$451.00	6/21/18	
February, 2018	385186	2582	382416	3	382	3	\$225.50	\$676.50	6/21/18	
March, 2018	389701	4515	386931	4	386	4	\$225.50	\$902.00	6/21/18	
April, 2018	393945	4244	391175	5	391	5	\$225.50	\$1,127.50	6/21/18	
May, 2018	399873	5928	397103	6	397		7	1-1		6
June, 2018	406148	6275	403378	6	403					6
July, 2018	412093	5945	409323	6	409					6
August, 2018	418417	6324	415647	6	415					6
September, 2018	421469	3052	418699	3	418					3
October, 2018	425118	3649	422348	4	422					4
November, 2018	427655	2537	424885	2	424					2
December, 2018	429732	2077	426962	2	426					2
January, 2019	432133	2401	429363	3	429					3
February, 2019	435366	3233	432596	3	432					3
March, 2019	440432	5066	437662	5	437					5
April, 2019	445995	5563	443225	6	443					6
	452163			7	443	 				6
May 2010	432103	6168	449393	6	449					U
May, 2019 June, 2019	458474	6311	455704		449					

^{**8/3/12:} updated April and June with figures from CEPS website from 24 to 21 SREC's